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1. REEEROE
(1) BEIEE
OEAR EE i 3,000 2,000 1,000
BEAMESIRAE 3,000 2,000 1,000
g ety 101,000 95,000 6,000
B ESTIEE 101,000 95,000 6,000
@FEI[ 4 1,664,000 1,624,000 40,000
THEFEN 1,664,000 1,624,000 40,000
D= EumRh &% 0 64,000 A 64,000
SIS 0 64,000 A 64,000
U Bh AR AR 0 0 0
O=mams 0 0 0
iy =Lk 0 0 0
PR IMAEET 1,768,000 1,785,000 A 17,000
(2) BEER
D 1,456,000 1,494,000 A 38,000
A& 402,000 425,000 A 23,000
REZEE 300,000 310,000 A 10,000
SR 26,000 26,000 0
FEAA 31,000 31,000 0
It E 466,000 469,000 A 3,000
HEE 4,000 4,000 0
B EE 27,000 27,000 0
FOMREE 200,000 202,000 A 2,000
@EHE 310,000 306,000 4,000
A% 140,000 143,000 A 3,000
ABHRHS A 20,000 19,000 1,000
HA A 5,000 5,000 1,000
IS 42,000 42,000 0
FHALATR 52,000 54,000 A 2,000
F O 50,000 43,000 7,000
{RIEERL) {(52,000) (54,000) (A2,000)
EE 1,766,000 1,800,000 A 34,000
R R A SR S R R X B i 2,000 A 15,000 17,000
EEEilE= EAe o 0 0 0
L4 HAR A TR AR 2,000 A 15,000 17,000
2. REIBEE O
(1) BFEIE
PR AR 0 0 0
(2) EEAER
S J 0 0 0
W AR B AMEIEAR 0 0 0
TS| B2 — % IE ok B pE e g AE 2,000 A 15,000 17,000
EAR, EERE NEZER 0 1,000 A 1,000
U B — e TE R R EE Y B4R 2,000 A 16,000 18,000
—BERMERERR 1,763,000 1,866,000 A 103,000
— R WM EMRER 1,765,000 1,850,000 A 85,000
I B EIEWMENROL
EAMEERRS 1,000 1,000 0
— R IE MR B A~ DR A 1,000 A 1,000 0
U 1 $8 FE R bR R EE B R 0 0 0
BEERMEHEER 584,000 584,000 0
HBEERMEYNRER 584,000 584,000 0
I ERMEHRER 2,349,000 2,434,000 A 85,000




